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5 NBOF 4 i) A& #ccl 15 75 (36/39)
w ey B B F M MGCc 75 75 (38/31)
BN B OB E Ef mcc 75 75 (38/37)

8 ¥ % F B cc 76 76 (40/36)
¥ H X mBKHE FECC 176 76 (36/40)

A 9 2 I 3 + GC 76 76 (39/37)

B & B — B g;cc 16 76 (37/39)

g T % — Y ¥ L O v ZcCC 16 76 (36/40)

Z H B H 7+ L XA MRJINICC 76 76 (37/39)

14 w8 E OE Macc 77 77 (39/38)
B s B OB g mmcc 717 77 (38/39)

B = — 4 Macc 77 77 (37/40)

& [ B n E3| Bcc 77 77 (39/38)

® % B K J —HY 7 —49Gc 71 77 (40/37)

& - B % It ccl 71 71 (39/38)

X = EFAR ¥ N I BMeec 17 77 (41/36)

mHEH D X®EX B L 4 9GC T1 71 (39/38)

N VN E E£EGC 77 77 (39/38)

L B & F ®cec 717 71 (39/38)

24 7K B A B EFcCcc 78 78 (36/42)
5 % 2 E vy hrL—HEHEFFCC T8 78 (40/38)

X B B AKX ES ihcc 78 78 (38/40)

X W ® Al T 3 >+ GC 18 78 (38/40)

Er B ® B # Al cc 18 78 (38/40)
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37 E ot EF E L EHE A4 VAR —GC 80 80  (39/41)
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#OFE E T 3 + GC 80 80  (43/31)

F 2 B AN7F mCC 80 80  (41/39)
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49 M X B E M E#cc 81 81 (39/42)
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X M 8 B Y ¥ L o v 2 cCcc 8l 81 (41/40)

m % B =z smcc 81 81 (41/40)
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60 N E BB ¥ N I BGC 82 82  (40/42)
A B B XE F E f ®gcc 8 82  (41/41)
[ k| ®cc 82 82  (40/42)
m O K # iR = GC| 82 82  (43/39)
X Ok 1t izt B CcC 82 82  (41/41)
B /" KX WY =~ Oocc 82 82  (39/43)
[i] #F F B n E3| R cc 82 82  (42/40)
N B SFY9 L — b L cc 82 82  (42/40)
T Nl E E B GC 82 82  (42/40)
AR bl o) EcCCc 82 82  (40/42)
OB N — # 15 E3| R cc 82 82  (39/43)
72 B M F B\ EFcCcc 83 83  (38/45)
B "7 K BN B NN T Y v uith e 83 83  (44/39)
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nm @\ E 8 & EcCc 84 84  (42/42)
H ¢ B = F % x #HcCcCc 84 84  (43/41)
nooiwm F & 8 B cc 84 84  (45/39)
7\ A B4 -/)-2hvbtY-GC 84 84  (43/41)
X M B 8hx — 9 3 v KFGC 84 84  (42/42)
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B 5 & X T N—41)—>2GC 8 85  (42/43)
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it i E oy FL—FEHIFCC 86 86  (43/43)
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R A EF — B F mCcC 88 88 (42/46)
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